

## DYNAMICS OF PERMUTABLE TRANSCENDENTAL ENTIRE FUNCTIONS

XIAOLING WANG, XINHOU HUA, CHUNG-CHUN YANG AND DEGUI YANG

ABSTRACT. Let  $f$  and  $g$  be two permutable transcendental entire functions. Assume that  $f$  has the form

$$f(z) = p(z) + p_1(z)e^{q_1(z)} + p_2(z)e^{q_2(z)}.$$

We shall investigate the dynamical properties of  $f$  and  $g$  and show that they have the same Julia sets and Fatou sets, i.e.,  $J(f) = J(g)$ . This relates to an open question due to Baker.

**1. Introduction and main results.** Let  $f(z)$  be a transcendental entire function, and denote by  $f^n$ ,  $n \in \mathbf{N}$ , the  $n$ th iterate of  $f$ . The set of normality,  $F(f)$ , is defined to be the set of points,  $z \in \mathbf{C}$ , such that the sequence  $\{f^n\}$  is normal in some neighborhood of  $z$ , and  $J = J(f) = \mathbf{C} - F(f)$ .  $F(f)$  and  $J(f)$  are called the Fatou set and Julia set of  $f$ , respectively. Clearly  $F(f)$  is open. It is well-known that  $J(f)$  is a nonempty perfect set which coincides with  $\mathbf{C}$ , or is nowhere dense in  $\mathbf{C}$ . For the basic results in the dynamical system theory of transcendental functions, we refer the reader to books [12, 17], the survey paper [2] and the papers of Fatou [9] and Julia [13].

In what follows, we shall use the following standard notations:

$$\begin{aligned} M(r, f) &= \max\{|f(z)| : |z| = r\}, \\ m(r, f) &= \min\{|f(z)| : |z| = r\}, \\ \lambda = \lambda(f) &= \limsup_{r \rightarrow \infty} \frac{\log \log M(r, f)}{\log r}, \\ \rho = \rho(f) &= \liminf_{r \rightarrow \infty} \frac{\log \log M(r, f)}{\log r}. \end{aligned}$$

---

2000 AMS *Mathematics Subject classification*. Primary 30D05, 37F10, 37F50.

*Key words and phrases*. Complex dynamics, Julia set, permutable transcendental entire functions.

The research of the first author was partially supported by the National Natural Science Foundation of China, No. 10371069.

Received by the editors on April 14, 2004, and in revised form on Aug. 7, 2004.

We call them maximum modulus, minimum modulus, order of  $f$  and lower order of  $f$ , respectively. We will use  $T(r, f)$  to denote the Nevanlinna characteristic of  $f$ , see for example [11] for an introduction to Nevanlinna theory.

A point  $a$  is called a singular value of  $f$  if it is either a critical value or an asymptotic value of  $f$ . We denote by  $\text{sing}(f^{-1})$  the set of all finite singular values of  $f$ :

$$\text{sing}(f^{-1}) = \{z \in \mathbf{C} : z \text{ is a singularity of } f^{-1}\}.$$

If the set  $\text{sing}(f^{-1})$  is bounded, then we say  $f$  is of bounded type. In particular, if the set  $\text{sing}(f^{-1})$  is finite, then  $f$  is of finite type, and we denote this by  $f \in B$  and  $f \in S$ , respectively [2].

Let  $f$  and  $g$  denote two meromorphic functions. If

$$(1) \quad f(g) = g(f),$$

then we call  $f$  and  $g$  *permutable*.

**Theorem A** [8, 21]. *Let  $R_1$  and  $R_2$  be two permutable rational functions. Then*

1.  $F(R_1) = F(R_2)$  and  $J(R_1) = J(R_2)$ ;
2. if  $D$  is an attractive domain, a parabolic domain or a Siegel disk of period  $m$  of  $R_1$ , then it is also an attractive domain, a parabolic domain or a Siegel disk of period  $m$  of  $R_2$ , respectively.

**Question 1** (Baker [1]). For two given distinct permutable transcendental entire functions  $f$  and  $g$ , does it follow that  $F(f) = F(g)$ ?

This is a difficult question to answer. So far, some answers to several special cases or classes of functions of  $f$  and  $g$  are obtained. Firstly, we recall the following two known results.

**Theorem B** ([1, 19]). *Suppose that  $f$  and  $g$  are distinct permutable transcendental entire functions, and  $g = af + b$  for some constant  $a \neq 0$ . Then  $F(f) = F(g)$ .*

**Theorem C [20].** *Let  $f, g \in S$  and  $f \circ g = g \circ f$ . Then*

1.  $J(f) = J(g)$ ;
2. *If  $D$  is a superattractive stable domain, an attractive stable domain, a parabolic stable domain or a Siegel disk of  $f$ , then  $D$  is also a superattractive stable domain, an attractive stable domain, a parabolic stable domain or a Siegel disk of  $g$ , respectively.*

**Theorem D [22].** *Let  $f$  and  $g$  be two distinct permutable transcendental entire functions and  $q(z)$  be a non-constant polynomial. Suppose that  $q(g) = aq(f) + b$ ,  $a(\neq 0), b \in \mathbf{C}$ . Then  $J(f) = J(g)$ .*

**Theorem E [16].** *If  $f$  and  $g$  are two permutable transcendental entire functions, and there exists a non-constant polynomial  $\Phi(x, y)$  in both  $x$  and  $y$  such that  $\Phi(f(z), g(z)) \equiv 0$ , then  $J(f) = J(g)$ .*

**Theorem F [16].** *Let  $f$  and  $g$  be two permutable transcendental entire functions with  $\lambda(g) < \infty$ . If  $f(z) = p(z) + p_1(z)e^{q(z)}$ , where  $p(z)$ ,  $p_1(z)$  and  $q(z)$  are polynomials, then  $g(z) = cf(z) + d$  for some two constants  $c \neq 0$  and  $d$ .*

From this theorem and Theorem B, we can easily get

**Theorem 1.** *Let  $f$  and  $g$  be two permutable transcendental entire functions with  $\lambda(g) < \infty$ ,  $p(z)$ ,  $q(z)$  and  $r(z)$  be three polynomials. Suppose that*

$$f(z) = p(z) + q(z)e^{r(z)}.$$

*Then  $J(f) = J(g)$ .*

References [14, 15, 18, 19, 24] also studied the dynamics of two transcendental entire functions.

In this paper, we shall prove the following results.

**Theorem 2.** *Let  $f$  and  $g$  be two permutable transcendental entire functions with  $\lambda(g) < \infty$ . Let  $p(z)$  and  $q_i(z)$ ,  $i = 1, 2$ , be nonconstant*

polynomials and  $p_1(z) \not\equiv 0$  and  $p_2(z) \not\equiv 0$  be polynomials. Assume that

$$(2) \quad f(z) = p(z) + p_1(z)e^{q_1(z)} + p_2(z)e^{q_2(z)}.$$

Then  $J(f) = J(g)$ .

**Example 1.** Let  $f(z) = z + \gamma \sin z$ ,  $g_1(z) = z + \gamma \sin z + 2k\pi$  and  $g_2(z) = -z - \gamma \sin z + 2k\pi$ . Then  $f \circ g_1 = g_1 \circ f$  and  $f \circ g_2 = g_2 \circ f$ . Here  $\gamma (\neq 0) \in \mathbf{C}$  and  $k \in \mathbf{Z}$ .

**Example 2.** Let  $f(z) = z + \gamma e^z$ ,  $g(z) = z + \gamma e^z + 2k\pi i$ . Then  $f \circ g = g \circ f$ . Here  $\gamma (\neq 0) \in \mathbf{C}$  and  $k \in \mathbf{Z}$ .

When  $p(z)$  is a constant, we have the following result.

**Theorem 3.** Let  $f$  and  $g$  be two permutable transcendental entire functions with  $\lambda(g) < \infty$  and

$$(3) \quad f(z) = p + p_1 e^{q_1(z)} + p_2 e^{q_2(z)}.$$

Let  $q_i(z) (i = 1, 2)$  be nonconstant polynomials such that  $q'_1/q'_2$  is not constant. Assume that  $p, p_1 \neq 0$  and  $p_2 \neq 0$  are three constants. Then  $J(f) = J(g)$ .

*Proof of Theorem 2.*

**Lemma 1** [10]. Let  $G_0, G_1, \dots, G_m$  and  $f$  be nonconstant entire functions, and let  $h_0, h_1, \dots, h_m$ ,  $m \geq 1$ , be nonzero meromorphic functions. Suppose that  $K$  is a positive number and  $\{r_i\}$  is an unbounded monotone increasing sequence of positive numbers such that, for each  $j \geq 1$ ,

$$\begin{aligned} T(r_j, h_i) &\leq KT(r_j, f), \quad i = 0, \dots, m, \\ T(r_j, f') &\leq (1 + o(1))T(r_j, f). \end{aligned}$$

If

$$h_0 G_0(f) + h_1 G_1(f) + \dots + h_m G_m(f) \equiv 0,$$

then there exist polynomials  $\{p_j\}$ ,  $j = 0, 1, \dots, m$ , not all identically zero such that

$$p_0(z)G_0(z) + p_1(z)G_1(z) + \dots + p_m(z)G_m(z) \equiv 0.$$

**Lemma 2** [5]. Let  $f_j(z)$ ,  $j = 1, 2, 3, \dots, n$ , and  $g_j(z)$ ,  $j = 1, 2, 3, \dots, n$ ,  $n \geq 2$ , be two systems of entire functions satisfying the following conditions:

1.  $\sum_{j=1}^n f_j(z)e^{g_j(z)} \equiv 0$ ;
2. for  $1 \leq j, k \leq n$ ,  $j \neq k$ ,  $g_j(z) - g_k(z)$  is nonconstant;
3. for  $1 \leq h, k \leq n$ ,  $h \neq k$ ,  $1 \leq j \leq n$ ,  $T(r, f_j) = o\{T(r, e^{g_h - g_k})\}$ .

Then  $f_j(z) \equiv 0$  ( $j = 1, 2, 3, \dots, n$ ).

**Lemma 3** [23]. Let  $f$  and  $g$  be two permutable entire functions satisfying

1.  $\lambda(f) < \infty$  and  $\lambda(g) < \infty$ ;
2.  $\rho(f) > 0$ .

Then there exists a sequence  $\{r_j\}$  tending to  $\infty$  and a positive constant  $K$  so that

$$T(r_j, g') \leq KT(r_j, f) \quad \text{and} \quad T(r_j, g'') \leq KT(r_j, f).$$

*Proof of Theorem 2.* If  $q_1(z) - q_2(z)$  is identically constant, then Theorem 2 reduces to Theorem 1. Next we assume that with

$$q_1(z) - q_2(z) \not\equiv \text{constant}.$$

Note that  $\rho(f) = \lambda(f) = \max\{\deg(q_1), \deg(q_2)\}$ . From (1) we have

$$(4) \quad f'(g) = \frac{f'}{g'} g'(f)$$

and, hence,

$$(5) \quad f''(g) = \frac{f''g' - f'g''}{g'^3} g'(f) + \left(\frac{f'}{g'}\right)^2 g''(f).$$

From

$$(6) \quad f(z) = p(z) + p_1(z)e^{q_1(z)} + p_2(z)e^{q_2(z)}$$

we get

$$(7) \quad f'(z) = p'(z) + [p'_1(z) + p_1(z)q'_1(z)]e^{q_1(z)} + [p'_2(z) + p_2(z)q'_2(z)]e^{q_2(z)}$$

and

$$(8) \quad f''(z) = p''(z) + [p''_1(z) + 2p'_1(z)q'_1(z) + p_1(z)q''_1(z) + p_1(z)q'_1(z)^2]e^{q_1(z)} \\ + [p''_2(z) + 2p'_2(z)q'_2(z) + p_2(z)q''_2(z) + p_2(z)q'_2(z)^2]e^{q_2(z)}.$$

By eliminating the factors  $e^{q_1(z)}$  and  $e^{q_2(z)}$  from the three equations (6), (7) and (8), we derive

$$(9) \quad P_2(z)f''(z) + P_1(z)f'(z) + P_0(z)f(z) + P(z) = 0,$$

where

$$(10) \quad P_2 = p_1p'_2 - p'_1p_2 - p_1p_2(q'_1 - q'_2),$$

$$(11) \quad P_1 = -p_1p''_2 + p''_1p_2 - 2p_1p'_2q'_2 + 2p'_1p_2q'_1 + p_1p_2(q''_1 - q''_2) \\ + p_1p_2(q'^2_1 - q'^2_2) \\ = -P'_2 - P_2(q'_1 + q'_2),$$

$$(12) \quad P_0 = -(p''_1 + 2p'_1q'_1 + p_1q''_1 + p_1q'^2_1)(p'_2 + p_2q'_2) \\ + (p''_2 + 2p'_2q'_2 + p_2q''_2 + p_2q'^2_2)(p'_1 + p_1q'_1),$$

$$(13) \quad P = p''P_2 + (p''_1 + 2p'_1q'_1 + p'_1q''_1 + p_1q'^2_1)[(p'_2 + p_2q'_2)p - p_2p'] \\ + (p''_2 + 2p'_2q'_2 + p'_2q''_2 + p_2q'^2_2)[-(p'_1 + p_1q'_1)p + p_1p'].$$

**Claim 1.**  $P_2 \neq 0$ .

*Proof of Claim 1.* In fact, if, on the contrary,  $P_2 \equiv 0$ , then

$$p_1p'_2 - p'_1p_2 = p_1p_2(q'_1 - q'_2),$$

this contradicts the fact that  $q_1(z) - q_2(z) \not\equiv \text{constant}$ . Claim 1 follows.  $\square$

Replacing  $z$  by  $g(z)$  in equation (9) yields

$$P_2(g)f''(g) + P_1(g)f'(g) + P_0(g)f(g) + P(g) = 0.$$

Combining this with (1), (4) and (5), we get

$$(14) \quad P_2(g)\left(\frac{f'}{g'}\right)^2 g''(f) + \left[ P_2(g)\frac{f''g' - f'g''}{g'^3} + P_1(g)\frac{f'}{g'} \right] g'(f) + P_0(g)g(f) + P(g) = 0.$$

By Lemmas 1 and 3, there exist four polynomials  $Q(z)$ ,  $Q_0(z)$ ,  $Q_1(z)$  and  $Q_2(z)$ , not all identically zero, such that

$$(15) \quad Q_2(z)g''(z) + Q_1(z)g'(z) + Q_0(z)g(z) + Q(z) = 0.$$

Substituting  $z$  by  $f(z)$  in this equation, we get

$$(16) \quad Q_2(f)g''(f) + Q_1(f)g'(f) + Q_0(f)g(f) + Q(f) = 0.$$

Eliminating the term  $g''(f)$  from this and (14), we have

$$(17) \quad H_1g'(f) + H_0g(f) + H = 0,$$

where

$$(18) \quad H_1 = Q_1(f)P_2(g)\left(\frac{f'}{g'}\right)^2 - Q_2(f)\left[ P_2(g)\frac{f''g' - f'g''}{g'^3} + P_1(g)\frac{f'}{g'} \right],$$

$$(19) \quad H_0 = Q_0(f)P_2(g)\left(\frac{f'}{g'}\right)^2 - Q_2(f)P_0(g),$$

$$(20) \quad H = Q(f)P_2(g)\left(\frac{f'}{g'}\right)^2 - Q_2(f)P(g).$$

From (1), (4) and (17) we deduce that

$$(21) \quad H_1\frac{g'}{f'}f'(g) + H_0f(g) + H = 0.$$

Replacing  $z$  by  $g(z)$  in the equations (6) and (7) first and then substituting them into (21), we obtain that

$$H_1 \frac{g'}{f'} p'(g) + H_0 p(g) + H + \left[ H_1 \frac{g'}{f'} (p'_1(g) + p_1(g)q'_1(g)) + H_0 p_1(g) \right] \\ \times e^{q_1(g)} + \left[ H_1 \frac{g'}{f'} (p'_2(g) + p_2(g)q'_2(g)) + H_0 p_2(g) \right] e^{q_2(g)} = 0.$$

It follows from Lemmas 2 and 3 that

$$(22) \quad H_1 \frac{g'}{f'} (p'_1(g) + p_1(g)q'_1(g)) + H_0 p_1(g) = 0$$

and

$$(23) \quad H_1 \frac{g'}{f'} (p'_2(g) + p_2(g)q'_2(g)) + H_0 p_2(g) = 0.$$

**Claim 2.**  $H_1 \equiv 0$ .

*Proof of Claim 2.* If  $H_1 \neq 0$ , then from (22) and (23) we get

$$\frac{p'_1(g) + p_1(g)q'_1(g)}{p_1(g)} = \frac{p'_2(g) + p_2(g)q'_2(g)}{p_2(g)} \quad \text{if } H_0 \neq 0$$

or

$$(p_1(z)e^{q_1(z)})' = 0 \quad \text{and} \quad (p_2(z)e^{q_2(z)})' = 0 \quad \text{if } H_0 = 0.$$

Thus

$$(24) \quad \frac{p'_1(z)}{p_1(z)} + q'_1(z) = \frac{p'_2(z)}{p_2(z)} + q'_2(z)$$

or  $p_1(z)e^{q_1(z)} = c_1$  and  $p_2(z)e^{q_2(z)} = c_2$  for some constants  $c_1$  and  $c_2$ , which is a contradiction. But, from (24), we have  $p_1(z)e^{q_1(z)} = cp_2(z)e^{q_2(z)}$  for some constant  $c$ . This obviously contradicts to the assumptions of the theorem. Claim 2 follows.  $\square$



By Claim 2, (17) becomes  $H_0f(g) + H = 0$ . It follows from Lemmas 2 and 3 again that  $H_0 \equiv H \equiv 0$ . Hence,

$$(25) \quad Q_1(f)P_2(g)\left(\frac{f'}{g'}\right)^2 - Q_2(f)\left[P_2(g)\frac{f''g' - f'g''}{g'^3} + P_1(g)\frac{f'}{g'}\right] = 0$$

$$(26) \quad Q_0(f)P_2(g)\left(\frac{f'}{g'}\right)^2 - Q_2(f)P_0(g) = 0$$

and

$$(27) \quad Q(f)P_2(g)\left(\frac{f'}{g'}\right)^2 - Q_2(f)P(g) = 0.$$

*Claim 3.*  $P_0 \not\equiv 0$ .

*Proof of Claim 3.* If  $P_0 \equiv 0$ , then from (12) we deduce that

$$\frac{(p'_1 + p_1q'_1)'}{p'_1 + p_1q'_1} - \frac{(p'_2 + p_2q'_2)'}{p'_2 + p_2q'_2} = q'_1 - q'_2,$$

which yields

$$\frac{p'_1 + p_1q'_1}{p'_2 + p_2q'_2} = ce^{q_1 - q_2}$$

for some nonzero constant  $c$ ; this implies that  $q_1 - q_2$  is a constant, a contradiction. Claim 3 follows.  $\square$

**Claim 4.**  $Q_2 \not\equiv 0$ .

*Proof of Claim 4.* Suppose on the contrary that  $Q_2 \equiv 0$ . From Claim 1 we know that  $P_2 \not\equiv 0$ , then from (26) and (27) we get that  $Q_0 \equiv Q \equiv 0$ , and therefore  $Q_1 \equiv 0$  from (15), a contradiction. Claim 4 follows.  $\square$

**Claim 5.**  $Q_0 \not\equiv 0$ .

*Proof of Claim 5.* This follows from (26), Claim 3 and Claim 4.  $\square$

Note that the term with the highest degree in (12) is  $-p_1p_2q_1'q_2'(q_1' - q_2')$ , and the term with the highest degree in (13) is  $pp_1p_2q_1'q_2'(q_1' - q_2')$ . Since  $p(z) \not\equiv a$  constant, it follows from (12) and (13) that  $P(z) \not\equiv 0$  and  $P_0(z)/P(z)$  is not constant, and so, by (27),  $Q(z) \not\equiv 0$ . From (26) and (27), we have

$$(28) \quad \frac{Q_0(f)}{Q(f)} = \frac{P_0(g)}{P(g)}.$$

We rewrite this as

$$\frac{Q_0(f)P(g) - Q(f)P_0(g)}{Q(f)P(g)} = 0$$

and consider two subcases.

If  $Q_0(x)P(y) - Q(x)P_0(y)$  is identically constant, then the constant will be zero by the above equation. Thus,

$$Q_0(x)P(y) = Q(x)P_0(y)$$

for any  $x$  and  $y$ . In particular,

$$\frac{Q_0(z)}{Q(z)} = \frac{P_0(z)}{P(z)} := R(z)$$

for a rational function  $R(z)$ . It follows from (28) that

$$R(f) = R(g).$$

Therefore,  $f = \pm g + c$  for a constant  $c$ . By Theorem D, we get the conclusion  $J(f) = J(g)$ .

If  $Q_0(x)P(y) - Q(x)P_0(y) \not\equiv$  constant, then the conclusion follows from this, (1) and Theorem F.  $\square$

**3. Proof of Theorem 3.** Now we consider the case where  $p$ ,  $p_1 \neq 0$  and  $p_2 \neq 0$  are three constants. From (12) and (13), we have

$$P(z) \equiv -pP_0(z).$$

By (28),

$$Q(z) \equiv -pQ_0(z).$$

From (26), we get

$$(29) \quad \left(\frac{f'}{g'}\right)^2 = \frac{Q_2(f)P_0(g)}{Q_0(f)P_2(g)}.$$

By differentiating this equality, we derive that

$$(30) \quad \begin{aligned} \frac{f''g' - f'g''}{g'^3} &= \frac{[Q_2'(f)Q_0(f) - Q_2(f)Q_0'(f)]P_0(g)}{2[Q_0(f)]^2P_2(g)} \\ &+ \frac{[P_0'(g)P_2(g) - P_0(g)P_2'(g)]Q_2(f)}{2Q_0(f)[P_2(g)]^2} \cdot \frac{g'}{f'} \\ &= R_1(f, g) + R_2(f, g) \cdot \frac{g'}{f'} \end{aligned}$$

where

$$(31) \quad R_1(f, g) = \frac{[Q_2'(f)Q_0(f) - Q_2(f)Q_0'(f)]P_0(g)}{2[Q_0(f)]^2P_2(g)}$$

and

$$(32) \quad R_2(f, g) = \frac{[P_0'(g)P_2(g) - P_0(g)P_2'(g)]Q_2(f)}{2Q_0(f)[P_2(g)]^2}$$

are two rational functions of  $f$  and  $g$ . Substituting (29) and (30) into (25), we obtain that

$$(33) \quad \begin{aligned} \frac{Q_1(f)Q_2(f)P_0(g)}{Q_0(f)} - Q_2(f)P_2(g)R_1(f, g) \\ = Q_2(f)P_2(g)R_2(f, g) \cdot \frac{g'}{f'} + P_1(g)Q_2(f) \cdot \frac{f'}{g'}. \end{aligned}$$

Now squaring both sides of (33) and then substituting (29) into it, we derive that

$$(34) \quad \begin{aligned} \left[ \frac{Q_1(f)Q_2(f)P_0(g)}{Q_0(f)} - Q_2(f)P_2(g)R_1(f, g) \right]^2 \\ = \frac{Q_0(f)Q_2(f)[P_2(g)]^3[R_2(f, g)]^2}{P_0(g)} \\ + 2P_1(g)P_2(g)[Q_2(f)]^2R_2(f, g) \\ + \frac{[P_1(g)]^2[Q_2(f)]^3P_0(g)}{Q_0(f)P_2(g)}. \end{aligned}$$

Substituting (31) and (32) into (34), then simplifying and rearranging terms, we obtain that

$$(35) \quad \begin{aligned} & \{2Q_0(f)Q_1(f) - [Q_2'(f)Q_0(f) - Q_2(f)Q_0'(f)]\}^2 P_0(g)^3 P_2(g) \\ & = \{2P_0(g)P_1(g) - [P_2'(g)P_0(g) - P_2(g)P_0'(g)]\}^2 Q_0(f)^3 Q_2(f). \end{aligned}$$

Let

$$(36) \quad \begin{aligned} R(x, y) = & \{2Q_0(x)Q_1(x) - [Q_2'(x)Q_0(x) - Q_2(x)Q_0'(x)]\}^2 P_0(y)^3 P_2(y) \\ & - \{2P_0(y)P_1(y) - [P_2'(y)P_0(y) - P_2(y)P_0'(y)]\}^2 Q_0(x)^3 Q_2(x). \end{aligned}$$

Then

$$(37) \quad R(f, g) = 0.$$

If  $R(x, y) \not\equiv$  constant, then the conclusion follows from Theorem F. So what we need to do is to show that  $R(x, y) \not\equiv$  constant.

**Claim 6.**  $R(x, y) \not\equiv$  constant.

*Proof of Claim 6.* If on the contrary  $R(x, y) \equiv$  constant, then by (37),  $R(x, y) \equiv 0$ , and therefore

$$(38) \quad \begin{aligned} & \frac{\{2Q_0(x)Q_1(x) - [Q_2'(x)Q_0(x) - Q_2(x)Q_0'(x)]\}^2}{Q_0(x)^3 Q_2(x)} \\ & \equiv \frac{\{2P_0(y)P_1(y) - [P_2'(y)P_0(y) - P_2(y)P_0'(y)]\}^2}{P_0(y)^3 P_2(y)}. \end{aligned}$$

If the left-hand side is a nonconstant rational function of  $x$ , then there exist two different values  $a$  and  $b$ , and two different roots  $x_1$  and  $x_2$  such that

$$\frac{\{2Q_0(x_1)Q_1(x_1) - [Q_2'(x_1)Q_0(x_1) - Q_2(x_1)Q_0'(x_1)]\}^2}{Q_0(x_1)^3 Q_2(x_1)} \equiv a$$

and

$$\frac{\{2Q_0(x_2)Q_1(x_2) - [Q_2'(x_2)Q_0(x_2) - Q_2(x_2)Q_0'(x_2)]\}^2}{Q_0(x_2)^3 Q_2(x_2)} \equiv b.$$

It follows from (38) that

$$a \equiv \frac{\{2P_0(y)P_1(y) - [P_2'(y)P_0(y) - P_2(y)P_0'(y)]\}^2}{P_0(y)^3P_2(y)}$$

and

$$b \equiv \frac{\{2P_0(y)P_1(y) - [P_2'(y)P_0(y) - P_2(y)P_0'(y)]\}^2}{P_0(y)^3P_2(y)};$$

this is a contradiction. Therefore, the left-hand side of (38) is a constant, say  $c$ , and we have, by (38),

$$\frac{\{2P_0(y)P_1(y) - [P_2'(y)P_0(y) - P_2(y)P_0'(y)]\}^2}{P_0(y)^3P_2(y)} \equiv c.$$

Eliminating  $P_1(y)$  by substituting (11) into the above equation, we get

$$(39) \quad \left[ \frac{P_0'(y)}{P_0(y)} - 3\frac{P_2'(y)}{P_2(y)} - 2(q_1'(y) + q_2'(y)) \right]^2 = c \frac{P_0(y)}{P_2(y)}.$$

Note that  $p, p_1 \neq 0$  and  $p_2 \neq 0$  are three constants. We deduce from (10) and (12) that

$$P_0 = -p_1p_2q_1'q_2'(q_1 - q_2), \quad P_2 = -p_1p_2q_1'q_2'.$$

Substituting these into (39), we have

$$(40) \quad \left[ \frac{q_1''(y)}{q_1'(y)} + \frac{q_2''(y)}{q_2'(y)} - 2\frac{q_1''(y) - q_2''(y)}{q_1'(y) - q_2'(y)} - 2(q_1'(y) + q_2'(y)) \right]^2 = c q_1'(y)q_2'(y).$$

Note that

$$\frac{q_1''(y)}{q_1'(y)} + \frac{q_2''(y)}{q_2'(y)} - 2\frac{q_1''(y) - q_2''(y)}{q_1'(y) - q_2'(y)}$$

is a rational function and is of the form

$$\frac{a_1}{y - y_1} + \dots + \frac{a_k}{y - y_k},$$

note also that  $(q_1(y) + q_2(y))'$  and  $q_1'(y)q_2'(y)$  are polynomials, it follows from (40) that

$$\frac{q_1''(y)}{q_1'(y)} + \frac{q_2''(y)}{q_2'(y)} - 2\frac{q_1''(y) - q_2''(y)}{q_1'(y) - q_2'(y)} \equiv 0.$$

Substituting this into (40) implies that

$$[-2(q_1'(y) + q_2'(y))]^2 = c q_1'(y) q_2'(y).$$

This implies that  $q_1'/q_2'$  is a constant, which contradicts the assumption of the theorem.  $\square$

### REFERENCES

1. I.N. Baker, *Wandering domains in the iteration of entire functions*, Proc. London Math. Soc. **49** (1984), 563–576.
2. W. Bergweiler, *Iteration of meromorphic functions*, Bull. Amer. Math. Soc. **29** (1993), 151–188.
3. ———, *On the Julia sets of analytic self-maps of the punctured plane*, Analysis **15** (1995), 252–256.
4. W. Bergweiler and A. Hinkkanen, *On semiconjugation of entire functions*, Math. Proc. Cambridge Philos. Soc. **126** (1999), 565–574.
5. C.T. Chuang and C.C. Yang, *Fix-points and factorization of meromorphic functions*, World Scientific, Singapore, 1990.
6. A.E. Eremenko, *On the iterates of entire functions*, Dynam. Sys. Ergodic Theory, Banach Center Publ., Vol. 23, Polish Scientific Publ., Warsaw, 1989, pp. 339–345.
7. A.E. Eremenko and M.Yu. Lyubich, *Dynamical properties of some classes of entire functions*, Ann. Inst. Fourier **42** (1992), 989–1020.
8. P. Fatou, *Sur les équations fonctionnelles*, Bull. Soc. Math. France **47** (1919), 161–271; **48** (1920), 33–94, 208–314.
9. ———, *Sur l'itération des fonctions transcendentes entières*, Acta Math. **47** (1926), 337–370.
10. F. Gross and C.F. Osgood, *On fixed points of composite entire functions*, J. London Math. Soc. **28** (1983), 57–61.
11. W.K. Hayman, *Meromorphic functions*, Clarendon Press, Oxford, 1964.
12. X.H. Hua and C.C. Yang, *Dynamics of transcendental functions*, Gordon and Breach Science Publ., New York, 1998.
13. G. Julia, *Mémoire sur l'itération des fractions rationnelles*, J. Math. Pures Appl. **1** (1918), 47–245.
14. T. Kobayashi, *Permutability and unique factorizability of certain entire functions*, Kodai Math. J. **3** (1980), 8–25.
15. L.W. Liao and C.C. Yang, *Julia sets of two permutable entire functions*, J. Math. Soc. Jap. **1** (2004), 169–176.
16. ———, *Some further results on the Julia sets of two permutable entire functions*, Rocky Mountain J. Math. **35** (5) (2005), 1657–1674.
17. S. Morosawa, Y. Nishimura, M. Taniguchi and T. Ueda, *Holomorphic dynamics*, Cambridge Univ. Press, Cambridge, 2000.

18. T.W. Ng, *Permutable entire functions and their Julia sets*, Math. Proc. Cambridge Philos. Soc. **131** (2001), 129–138.
19. K.K. Poon and C.C. Yang, *Dynamical behavior of two permutable entire functions*, Ann. Polon. Math. **168** (1998), 159–163.
20. F.Y. Ren and W.S. Li, *An affirmative answer to a problem of Baker*, J. Fudan Univ. Natur. Sci. **36** (1997), 231–233.
21. W. Schmidt, *On the periodic stable domains of permutable rational functions*, Complex Variables Theory Appl. **17** (1992), 149–152.
22. X.L. Wang and C.C. Yang, *On the Fatou components of two permutable transcendental entire functions*, J. Math. Anal. Appl. **278** (2003), 512–526.
23. J.H. Zheng and Z.Z. Zhou, *Permutability of entire functions satisfying certain differential equations*, Tôhoku Math. J. **40** (1988), 323–330.
24. L.M. Zhu, D.G. Yang and X.L. Wang, *On the Julia sets of permutable transcendental entire functions*, J. Southeast Univ. **18** (2002), 270–273.

DEPARTMENT OF APPLIED MATHEMATICS, NANJING UNIVERSITY OF FINANCE AND ECONOMICS, NANJING 210003, JIANGSU, CHINA  
*E-mail address:* wangxiaoling@vip.163.com

DEPARTMENT OF MATHEMATICS AND STATISTICS, UNIVERSITY OF OTTAWA, OTTAWA, ON, K1N6N5 CANADA  
*E-mail address:* hua@mathstat.uottawa.ca

DEPARTMENT OF MATHEMATICS, HKUST, CLEAR WATER BAY, KOWLOON, HONG KONG, CHINA  
*E-mail address:* mayang@ust.hk

COLLEGE OF SCIENCES, SOUTH CHINA AGRICULTURE UNIVERSITY, GUANGZHOU 510642, CHINA  
*E-mail address:* dyang@scau.edu.cn